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���applications in many fields 
(bioinformatics, text, handwriting recognition, etc)
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Preliminaries
• Goal: 

• detect and exploit complex patterns in data 
• eg: by clustering, classifying, ranking, 

cleaning, etc.
• Challenges: 

1. Representing complex patterns
2. Excluding spurious (unstable) patterns 

(= overfitting)

• #1 is computational problem 
#2 is statistical problem
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Initialize w = 0
Do until bored

Predict “+” iff w · x > 0
else “–"

Mistake on y = +1:  w ← w + x
Mistake on /�E M%:  w ← w – x
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